Rep A?
1. Mcdelozrdet o F(x)e 2v (1 -x)
(900 ,‘fl/écrt/al{,(‘ [01 {’J

b /
— | 1
- ﬁi FON= = (2 (1=7) ol
Q

I\

)
@x-2x)dx < [zz”‘.,l, 517"
é 2 2”3]

o

sl
~—
]
i
.\ua
§
~
Q
(
Q
~
(f

2x(l~x) = 1L
3
2x 2 yr_
AR 3
)(2‘-—)(—1;_,'-—:
Xiizzi t_1 2Ll /3 =
T 2 e =
_‘\—_JZI L -_;J_‘f_[_
1Z 2z ?_(/:‘S
>(=-I—'+{ JV\ X*—'lvi_..
2N S NN
//LulAvaﬂ&’m”b’\ & Lc <o

5
_; F ol = L(c) > a(.:f’(“) dx = Céha)§(c\



5)6]'01 :S{'CgeQL ‘L,,\ ch szs énl/lzJSzf?

fﬂi[)f)olx = JQL(X)OCKT f{ﬁfx)&(x

Ta b
=~ [ fd« § £6)ax
C- C

nM;A'J ' ©
/P bebios Ty aveafy b,
= —Fla) + FL&)

Qfl é (
- Y
) j@('zwéx +6 D = [szl 6 x4 +§;</,?
O
2.
= (d t —ﬁj,)s\fglvﬂé(nyio): 7_f3/:

ya
2
X "+ | B
” J x? (}TV )le'" [Y-ﬁ-Yf——L
)

) p -3

/

T1/2.
o f (g> ¥ = [\J,'JL Xj ~ ;II.A.Z-_;Z,.\ SiH O :/_‘0—
O

o ]

2 s w“ 15 )
o f\[ﬁ&e?‘ ':s_{[)(-/) ol x 5[__{@_1) ] = :SH __';0 = e
! { 36, [ / 3



E x. R _
- A = Y WJ ¥= K38 X=0-';>é=0—‘
R™-x X dX st
© oG = IS ®©$ Yo 6 =T

2

fl

X = (@ 6oy 6 @

-

T/ 2.

L,
{ J Y R= Rsi*e” Reos L8
0

{e Ty~ A
L( U 2 Loz X= e [)“Cme
J 12 (lusmlp) PR rse L©
L——of_—’
cos 18
W2 u/z

- \1} R cos6 KwseoZ@=-(ngzws?(9c/&

/2.

= Y ,(@Lé(h* o5 29> LG
0

Ji/2.

q 2 -
— 51 26 L
7 R [3 K 2_]0

; s -
= 2 R (;, fs"'ﬁf-(oflzd,koy)
(Vo

=0
= 2R-Y = Tp?



(f

[ g R

ST A RN R
;ﬁ: 2 (u-1)
de = Z(u~?1)olq

2
= J “l g lu~1)d — 9 S
u“!

2,

1
Ull{
l
i

N
\\./\PJ
VRS
9
|\l
(
~N)
S
,;.
,S‘
?;
S
)
N
M

X=p U=y +

&

yu=1, n=( =/

Y=/ Q’z’{)’l:x
v

Uu=1"1_

(L2 -t‘[) ol







